

Indigo James Co.

04/17/2023 09:00 AM | Install Day 1 04/18/2023 09:00 AM | Install Day 2 04/19/2023 09:00 AM | Install Day 3 04/20/2023 01:00 PM | Touch Ups Only -Stand Bys 04/20/2023 06:00 PM | Event 04/21/2023 08:00 AM | Strike PO: Shipping Address: Private Home 10231 Charing Cross Road Los Angeles 90024 Invoice Date:
Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
Additions 4.20					
	Club & Lounge Chairs - Beverly Hills - Side Chair Blush W/ Silver Legs	1	\$200.00	Т	\$200.00
	Console Tables - Mirrored 01	1	\$200.00	Т	\$200.00
	Accent Table - Buenos Aires - Acrylic & Gold	1	\$150.00	Т	\$150.00
	Dining Chairs - Beverly Hills - Clear	2	\$20.00	Т	\$40.00
	Serving & Display Carts - Naples - Gold Cross Serving Cart	1	\$200.00	Т	\$200.00
			Total Additions 4	.20	\$790.00
Additions 4.18					
	Pedestals - Las Vegas - Mirrored Pedestal 01	3	\$150.00	Т	\$450.00
	Paint Change - Monaco Round Bar	1	\$1,250.00	Т	\$1,250.00
	Tent Cap - White for a 10 x 20 tent	1	\$2,350.00	Т	\$2,350.00
	Barstools - Frankfurt - Channeled Boucle - Off White	2	\$30.00	Т	\$60.00
	Area Rugs - Shag - White	2	\$175.00	Т	\$350.00

Description		Qtty	Price		Total
	Wall Mirrors - Milan - Wall Mirror white frame and L brackets	2	\$200.00	Т	\$400.00
	Fuchsia Velvet 60' x 14'H	1	\$1,150.00	Т	\$1,150.00
	Black Velvet 40' x 12'H	1	\$850.00	Т	\$850.00
	Black Out Drape 40' x 14'H instock	1	\$1,250.00	Т	\$1,250.00
			Total Additions 4	.18	\$8,110.00
Additions 4.15					
	Dj Fronts - Beverly Hills - Pink Channeled Velvet 78âN N W 52âN N Ø48âN N H **Client needs to provide a 6'L Table	1	\$425.00	Т	\$425.00
A	Dining Chairs - Frankfurt - Channeled Boucle Round - Off White	2	\$25.00	Т	\$50.00
			Total Additions 4	.15	\$475.00
Tennis Court Pa	rty				
	Truss Covers - Off White Velvet pricing is a guesstimate; subject to change	1	\$2,600.00	Т	\$2,600.00
	Perimeter Drape for a 50' x 115' x 12'H Tent Off White Stretch Velvet Drape	1	\$14,500.00	Т	\$14,500.00
	Ceiling Drape for 50' x 115' Tent Off White Stretch Velvet	1	\$16,000.00	Т	\$16,000.00
	Perimeter Valance - Off White Dupioni	1	\$1,950.00	Т	\$1,950.00
1	Chandelier - Versailles Two Tier Basket - Small 44"W x 53"H - Weight 80 Lb - 950 watts ruching in off white velvet	4	\$875.00	T	\$3,500.00
	Chandelier - Versailles One Tier Basket - Small 44"W x 47"H - 70 Lb - 1,025 watts ruching in off white	4	\$850.00	T	\$3,400.00
	Chandelier - Rome Large 27"W X 35"H - 28lb - 250 Watts ruching in off white	12	\$350.00	Т	\$4,200.00
	Custom Dance Floor 28'L x 28'W Black and White checker	1	\$7,800.00	Т	\$7,800.00
	18" x 18" in size; set on a diagonal				

Description		Qtty	Price		Total
	Boston Round Barback - Off White	1	\$325.00	T	\$325.00
	New York Bar 6'L - Off White w. Mirror Front To make (1) 18' bar	3	\$1,450.00	Т	\$4,350.00
	Munich Barback - Chrome	3	\$185.00	T	\$555.00
	Madrid Round Sofa - Off White Boucle	4	\$500.00	T	\$2,000.00
	Rome Round Coffee Table - Off White	8	\$250.00	T	\$2,000.00
	Rome Club Chair - Off White Boucle Channeled	8	\$250.00	Т	\$2,000.00
	Rome Squared Sofa - Off White Boucle	4	\$500.00	Т	\$2,000.00
	Paris Coffee Table - Chrome w. Mirror	4	\$225.00	Т	\$900.00
	Madrid Club Chair - Off White Boucle w. Wood Trim	6	\$250.00	Т	\$1,500.00
	Rome Accent Table - Round 02 - Off White	8	\$125.00	Т	\$1,000.00
8	Beirut Ottoman - Ivory Velvet	20	\$85.00	Т	\$1,700.00
	Ottoman Pod 18"D - Off White Boucle	16	\$50.00	Т	\$800.00
	Accent Pillows	36	\$30.00	Т	\$1,080.00
	Stand Up Tables - Berlin - Chrome	6	\$150.00	Т	\$900.00

Description		Qtty	Price		Total
	Tokyo Communal Table 10'L - Off White w. Mirror	2	\$250.00	Т	\$500.00
	Frankfurt Barstools - Off White Boucle	16	\$35.00	Т	\$560.00
		Total	Tennis Court Pa	arty	\$79,720.00
Upper Guest Ho	use				
	New York Bar 6'L - Off White w. Mirror Front	2	\$1,450.00	Т	\$2,900.00
	Athens Left Chaise - Off White Boucle	1	\$300.00	Т	\$300.00
	Paris Coffee Table - Chrome w. Mirror	1	\$225.00	Т	\$225.00
	Madrid Club Chair - Off White Boucle w. Wood Trim	2	\$250.00	T	\$500.00
	Accent Pillows	4	\$30.00	Т	\$120.00
	Ottoman Pod 18"D	2	\$50.00	Т	\$100.00
		Total	Upper Guest Ho	use	\$4,145.00
Client Private Ro	oom				
P	Beirut Sofa - Curvy Blush Velvet	2	\$550.00	T	\$1,100.00
	Beirut Club Chairs - Blush Velvet	4	\$275.00	T	\$1,100.00
	Paris Coffee Table - Chrome w. Mirror	2	\$225.00	T	\$450.00
	Rome Accent Table - Round 01 - Off White	2	\$125.00	Т	\$250.00
	Accent Pillows	12	\$30.00	Т	\$360.00

Description		Qtty Price			Total \$3,260.00
		Total	Client Private Ro	om	\$3,260.00
Downstairs Pink	Party				
	Truss Covers - Pink Velvet pricing is a guesstimate; subject to change	1	\$2,650.00	Т	\$2,650.00
	Perimeter Drape - Fuchsia Velvet Drape 65' x 50' x 12'H Room	1	\$7,500.00	Т	\$7,500.00
	Perimeter Valance - Fuchsia Dupioni 18"H	1	\$1,500.00	Т	\$1,500.00
	NEW Faux Mirror Panels 28'W x 10'H for behind the lounge vignette	1	\$9,687.00	Т	\$9,687.00
	NEW Faux Mirror Panels 16'W x 10'H for behind each of the bars	2	\$6,150.00	Т	\$12,300.00
	Dance Floor 20' x 24' Fuschia Pink with Iridescent Sparkles	1	\$6,500.00	Т	\$6,500.00
	Monaco Straight Banquette 6'L - White Channeled	10	\$300.00	Т	\$3,000.00
	Las Vegas Coffee Table - Rectangle Mirror	6	\$200.00	T	\$1,200.00
	Las Vegas Round Booth 2pcs	4	\$850.00	Т	\$3,400.00
	NEW Cover - Las Vegas Round Booth Blush Pink Velvet	4	\$1,250.00	Т	\$5,000.00
	Las Vegas Coffee Table - Mirrored Round Large	4	\$250.00	Т	\$1,000.00
	Beirut Ottoman - Blush Velvet	22	\$85.00	Т	\$1,870.00
	Ottoman Pod 18"D - White Velvet	16	\$50.00	T	\$800.00
	Accent Pillows	36	\$30.00	Т	\$1,080.00
	Las Vegas Bar 8'L - Multi Mirror Silver	4	\$750.00	Т	\$3,000.00
	Barback - Nantucket Wood Large - Hot Pink 5' x 18"D x 5'H	2	\$250.00	T	\$500.00

Description		Qtty	Price	Total
	Barback - Nantucket Wood Small - Hot Pink 4' x 18"D x 5'H	4	\$250.00	T \$1,000.
	Dance Platform - Round 02 - Hot Pink 47" Diam x 23"H	2	\$350.00	T \$700.
		Total Do	wnstairs Pink Part	y \$62,687.
Additional De	tails			
	Vinyl Graphic - Matte Black for the (8) windows in the guest house; double-sided Applied from the outside	8	\$1,600.00	T \$12,800.
	Drape for Coat Check Tent - Off White Velvet 10' x 20' x 10'H Exterior Perimeter Drape and Valance	1	\$2,150.00	T \$2,150.
		Tota	al Additional Detail	s \$14,950.
Services				
	Installers: Install for (3) Days	12	\$1,500.00	\$18,000
	Installers: Touch Ups	9	\$500.00	\$4,500
	Installers: Strike	13	\$600.00	\$7,800.
	Trucking: 24' Truck	6	\$450.00	\$2,700.
	Trucking: Fuel Surcharge	6	\$65.00	T \$390.
	Design: Renderings	1	\$5,000.00	\$5,000
	Design: Layouts and Decks	1	\$2,500.00	\$2,500.
	Design: Site Visits	1	\$850.00	\$850.
	Pre-Production: Warehouse Prep	1	\$3,500.00	\$3,500
	Manager: Onsite for (4) Days	1	\$3,400.00	\$3,400
	Misc: Supplies	1	\$3,000.00	\$3,000
	Certificates: Flame Proofing	1	\$850.00	\$850.
	Dance Floor: Labor and Delivery	1	\$2,000.00	\$2,000
	Graphics: Vinyl Labor for Install and Strike	1	\$4,300.00	\$4,300.
Please make c	hecks payable to Revelry, Inc.		Total Products	s: \$174,137.
lote: Prior to deliveries and pick-ups all invoices must be pay in full		Total La	abor/Services/Misc	\$58,790
	lease ready the contract and sign it		Taxes Discounts	
Notes			Tota	,
			Payments	s: (\$1,500.0

Balance: \$248,007.07